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Direction : Read the given passage and
answer the questions (1 to 3) that follows
based on passage :

The caffeine in one moming's coffee or
tea may improve the complex reasoning
ability of extroverts but has the opposite effect
on introverts, More than 700 people were
given caffeine equal to no more than three
cups of coffee and then tested on word
analogies,  sentence  completion,  and
identification of antonyms. The researchers
believe that the caffeine was beneficial to the
extroverts in the moming because they take
longer to wake up. Introverts are more alert in
the moming and become overstimulated by
the drug which interferes with their reasoning
power.
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/{ CafTeine has greater effect carly in the
moming.
(A) Probably true
(B) Data inadequate
(C) Definitely true
(D) probably false
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Extroverts do not find caffeine
beneficial in the evening.

(A) Definitely true

(B) Data inadequate

(C) Probably true

(D) Definitely false

afedd aree 5 FEA F A TE
e & |

(A) frfFea wd

(C) wvad: Jel

(B) 321 3rvafe
(D) fAfeea e

Caffeine affects reasoning ability of
people who drink tea or coflee.

(A) Definitely true

(B) Probably true

(C) Data inadequate

(D) Definitely false

N @m = ar wiR) 9 E, e IR
ifdba aman i wTfaE w2

(A) FfFEasd®t  (B) wwaa: Wl

(©) I (D) fafvaa e

Ankit is related to Binny and Chinky.
Daizy is Chinky's mother. Also, Daizy
is Binny's sister and Aruna is Binny's
sister. How is Chinky related to Aruna ?
(A) Cousin (B) Niece

(C) Aunt (D) Sister
aifra, fa=h s fhl & wafa 2 1 340,
faref) ) w1 & | areom, fa=hi ) @wa R 3l
R o fa=ht ) 7w @ ) ), o A
form wT HETUE R 7
(A)

(C) 3

(B) =
(D) =Ed

If ‘BEAT" is coded as ‘EHDW’, how
will you code *ROAD" ?

afg ‘BEAT’ & ‘EHDW'" Ffea faran man
7, @ 38 *ROAD' ® form wam gfea
& 7

(A) URBG
(C) TQOF

(B)y SQOF
(D) URDG
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pﬁ./ Parimal walks 40 metres towards east

He then tums left and walks 20 metres.
He again tums lefl and walks 40 metres.

How far is he from his starting point ?
(A) 60 metres (B) 30 metres
(C) 20 metres (D) 40 metres

TRee 40 fix @ ) A w7 2 | A
- aH SR gEa 20 WX e € | 9% g
Tt 3R gga 40 WX Ie 1 & | 98 3™

o fag & e g mR ¢
(A) 60X (B) 30
N2) 20T (D) 40 drex

A,B,C,O,E, F and G are sitting around a
circular table facing the centre. C is next to
the left of F and G is second to the left of

: 9/ From the pairs of words, you have to

select the pair which is related in the same
way as the words of the first pair.
Editor : Magazine : :

(A) Poem: Story (B) Novel : Volume
(C) Chair: Table (D) Director : Film

o TR e & i @ SR 38 T H
T w1 R W YYH I )
AIA TG A FENE R |

ﬁm:qﬁﬁl::

(A) e : FErh

(B) 9= : 7Y

(C) THi: ™=

(D) FETs : Reew

e At : |\1€i/ Which one of the given responses would
(b:é Als %ﬂm%} g‘“d to the leR of E. B is l be a meaningful order of the following
oo e’ words ?
What is the positicn GfDl? ﬁqﬁm Hﬁ'ﬁiﬁﬂf&qw:ﬁﬁﬁﬁ
(A) O is to immediate right of G. N . _
(B) O sits between A and C. 1:1355 -
(C) O sits between G and B. 3 Pc:hr:c rgf%m "X ys 2
. (D) O is to the immediate left of B. 2.  Punishment /'S
*br A.B.C.O,E,FaRGIgHiamga® | 3. Crime/3my o
N0 T e A s A3 E I F F 4 4. Tnalfam;T
" smmctamcrmiigmot By | g I s
iﬂ'ﬁﬁ?ﬁﬁt@l‘ﬁﬂhh%l?@ﬁ* ] (C) 3,1,2,5,4 (D)x1,2,4,53
T BR | \n & PH/ Which letter will rcplaccl the question
OFEFARAHR ? ! mark (?) in the following circle ?
(A) GHgETa0?|© ﬁﬂ%ﬁﬁmmmmﬁQ@}ﬁ
B) AGWCHFTAOATRIZ Wi e ?
(C) GEEBHAHO TR | qy
(D) BHFTATEOR | | E ®
8/ Mukesh is twenty-fifth from .lcﬂ 'and | d
Suresh is twenty-fourth from right in a |
row of 40 students. If Dhiren is sitting in A) V ®) O
between them, what will be his position | ) H (D) T
fmmﬁ_l;a? Tﬁ & o 3 R 1[]/ Supply the right letters for the Question
i éﬂ% Mark (?) :
s gon e @ 213k #
offta 3 2 mimt,a’mﬁﬁw‘ mﬁ:{éﬁﬁg@mm
T 1 E ? Y AM T ®) QM
(A) 24 (g) %g | (C) NM (D) PM
(C) .21 D) ; »
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vV 10 *CLOCK' 1s written as ‘KCOLC’, how

‘STEPS" can be written in that code 7
af} *CLOCK’ ® 'KCoLC" forat T &,
R e g2 A *STEPS' ® fFm we fera

P Et) 22 8
(A) SEPTS  (B) SPETS
(C) SPSET (D) SPEST

Sheela walks 1 km to east and turns right
and walks another 1 km and then turns
left and walks 2 km and again turning to
her left travels 5 km. How far is Sheela
from her starting point ?

jaﬁmt@-ﬁﬁmﬁ.ﬁt.m%aﬂwﬁ
--:%af'r{gsml%.vﬂ.aaﬂt%aﬂ{ﬁmaﬁ
jwzﬁ.tﬁ.méaﬁtmaﬁw
5 e o, e | en s geomd g A
fraigime ?
(A) 7kmfedd.  (B) 2km/fwHL
©) okmMrt. (D) S km/AHH.

Choose the odd one from the given
alternatives.

o et A & S 1 |

(A) 6-12 (B) 9-20

(C) 4-8 (D) 8-16

Which letter will be 14" to the left of
10™ letter from the right end in English
alphabetical series ?

St aotmren Ao § 28 BR d 109 AW F

ST 37T 145 SRR B HIR 7

A) X (B) A

<€) Z D) C—
Pointing to a boy in a photograph Abir
says, “He is the son of my mother's only
son”. How is Abir related to that boy ?

=

(A) Uncle (B) None of these
" (C) Brother (D) Father

s Rt 3 0 @ 3K T F@ T
7t 3 v, “a 30 W & el A T
' | v 3@ wrgt & Frm R wafta & 7 '
(A) FHe (B) T @ T
©, ™ (@) fe

1

8.

In a 'CU“L’E[L‘.'. | PR LT L L™=
Biology and Physics. N and M were

teaching Physics and English. O and L
were teaching Sanskrit and Biology. P and
M were teaching Geo graphy and Spanish.
L and M were teaching whiclt subjects 7

(A) Sanskrit '
(B) Physics and Sanskrit

(C) Physics :
(D) Biology and Physics '
w wam & L ok M Sfe-fare @

s e & | N 3t M T
qéaiauﬁqaﬁshoaﬂué@ué
- Tg & 1 P M e 3
S wEa | '

LaR MBS g e & 7

(A) w&pd
B SeTEwEEEd < o
(C) wifeeramd

(D) ha-fagm @@ sifoerare

If ‘water’ is called ‘food’, ‘food’ is
called ‘tree’, ‘tree’ is called ‘sky’, ‘sky’
is called ‘wall’, on which of the
following grows a fruit 7

(A) Tree (B) None of these
(C) Water (D) Food

Ffe ae’ B TAT HE @ R, THI
Yg* FE AT 8, U P AEW HE
T 2, ‘I Y AR FE A 8, @

feiiffameasae ?
») % ®) wHAFETE
(€) T (D) WHI ..

Which one of the given responses would
be a meaningful order of the following
words 7

P it 1 ovelet o R T e A @
WA ET? \43S % .
. —

. Village/TMa 2.” Nation/T

3. District/f5@4,  Taluk / arget

5. State /=9

(A) 1,4,3,5,2 (B) 1,2,3,4,5

© 14,235 (D)) 1,3,2,4,5
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22.

24.

25.

2‘ lady has 25p and S0p coins in her bag,
She has a total of 120 coins amounting

» v 5 . -
1o ¥ 50. What is the ratio of the number
of 25p and S0p coins ?

Q‘F‘*‘ﬁw%ﬁ%ﬂﬂ :'.5|1~'.m{ Sﬂp%ﬁﬁ%{
R 1 38 e 120 fireds & Rrem qea 750
R 1 25p 3 s0p ¥ Rl N wWew W

AV TR 7
(A 1:2 (B) 1:3
C€) 2:3 (D) 1:4

If the volumes of two cones are in the
ratio of 1 : 4 and their diameters are in
the ratio of 4 : 5, then the ratio of their
heights is:

I Q1 wHall T AT 1 : 4 ¥ e
TS 3751 @ 4 : 5 % I | &, o ITh
SR AU R

(A) 6:9 ,

(B) None of these /T & H1 TE

(C) 5:4

(D) 4:5

Select an appropriate number to replace
the question mark (?).

iR g (7) 1 Yieenfug S 5 foe
IO WA G | '
15 18 21
90 | 105 | |108 |126| |7 | 147
(A) 186 (B) 126
(C) 118 D) 162
(7+7+'?)-:~7=,? -
54+54+5+5 y

16 3
(A) = (B) T
© | o 3

Find the average of the cubes of first

five natural numbers.

worg gt YAl BEETA & o F fEd
Frd HIFAT |

(A) 65 (B) 55

(C) 35 (D) 45
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27.

29.

30.

If 10 spiders can catch 10 flies in 10
min, then how many [lies can 200
spiders catch in 20 min 7 .
afd 10 ywfEal 10 . # 10 wffa w
THg WA 8, @ 200 WAl 20 f4. o
faeeht nffaai v wadl 8 7

(A) 600 (B) 800

(C) 700 (D) 400

A shopkeeper by selling 44 calculators
eams a profit equal to the selling price of
11 calculators. His profit percentage 1s :
Th THHER 44 Fegpoel w1
Fopot & faFy I & aua w1 A
Hfefa T & | 3w o Wi @ -

(A) 30.33% (B) 40.33%

(C) 33.33% (D) 25.33%

If A’s income is 25% more than B’s
income, then by how much percent is

B's income less than A’s income ?
Iie A 1 3 B 1 319 A 25% 9T &,

@ B & 3@ A & 3y A fora wfawa

FHE?
(A) 20% (B) 30%
(C) 25% (D) 15%

Deepak invested an amount of ¥ 21,250
for 6 years. At what rate of simple
interest will he obtain the total amount
of ¥ 26,350 at the end of 6 years ?

€19e 3 T 21,250 ) vk TR 6 99 & g

- Faw e | 6 a9t v, 97 fRm Amm

=T U™ el T T 26,350 W &AM 7
(A) 9% p.a. /W ad
(B) None of these / T8 & 13 781
(C) 4% p.a./wfa=d
(D) 7% p.a. / wfa a4

The compound interest on ¥ 2,000 for 3
years is ¥ 315.25. The rate of interest is :

7 2,000 W 3 Ful W WHYlE W
731525 I B W R :

(A) 5% (B) 9%
(C) 7% (D) 8%



1. One litre of water is added to 5 litres of | 37. ; j
a 20% solution of alcohol in water, The numbers A, B, C, D ﬂng E is 52. What is
strength of alcohol is now : the product nf'ﬂ and E 7
gl § TeHTRS % 20% =it & Ui wet § 5 FATTA @9 H&HA! A, B, C, D 3R E 1
us de i i B o ) oare afad 52 2 | B 3R E 1 A% fehar 2 7
Uehigel 6l 7T 8 — (A) 2980 (B) 2910
(A) 16.66% {B) 24% C) ‘2800 (D} 3080
(€) 12.5% (D) 16% ’ ©

32. How much percent is 20 paise of ¥ 5 ? 38 In a shower § o of raii fills, ‘The
20 %8, T 5 1 T wherra @ 7 volume of water that falls on 1.5
(A) 0.8% (B) g“j}?/ ‘ hectares of ground is ;

(6), Ruls ) ok T WIOR § 5 cm 991 &1 & | 1.5 8RR

33. 4 men and 6 women finish a job in 8 ot i a6 _
days, while 3 men and 7 women finish it ki kil
in 10 days. 10 women working together (A) 950cu.m  (B) 1060 cu.m
will finishitin: : (C) 850cu.m (D) 750cu.m
4 %9 79 6 Higed 8 fo7 & veh wrd =1 ot -

FA § wafs 3 767 w9 7 mfgemd 7y 1o | Directions (Questions 39 to 41) : Study the

: - 11 i i 1
ot 0 8 110 sl e | 008 oo sl and ansver
Hih T Ul o - | P e 39 & 41) : Fraforfes gEist @
(A) 60 days/ et H (B) 40 days/ Rl | eorehr w2 v A1 for e oy 3 23 -
(©) 20dayyTATH @) 30 days/ fedi & Given an input, a machine generates pass

34. The profit earned afiter selling an article ' codes for the six batches each day as follows :

for ¥ 1,754 is the same as loss incurred
after selling the article for T 1,492. What
is the cost price of the article ?

Tk T 9! T 1,754 § 999 F 9 affq
mw,a@aﬁ?l,@zﬁ%aﬁ%mgrﬁ%
TR & | ] 1 AT e SR 7

The average of 5 consecutive even

s Ay fom mn 2, wfafen o mofm o A1 %
fore o8 #ie s ywn I A R
Input / faamr

: these ‘icons were taken
out from the sea
Pass codes /9T HIT :

(A) 71,580 (B) % 1,623 Batch 1/891 : from sea the out taken
(C) T1,524 (D) 1,680 were icons these
5./ 0.5x05+05+5="7 L) BatchII/89 10 : from icons these were
A) 0.15 (B) 025 @ - taken out th
ECJ 0.45 (D) 0.35 3 o
: Batch INI /99 TIT : from icons out sea the

The breadth of a rectangular field is 60%
of its length. If the perimeter of the field
is 800 m, what is the area of the field ?

& SETEER & 6l =S g T
A 60% & | 3z &= F 9ty 800 m. 2,

Y & o A TR 7
(B) 38000 m?

taken were these
from icons out sea these
were taken the

Batch IV/aS1V :

and so on.

First batch starts at 10.00 a.m_ and each batch is -
for one hour. There is a rest period of one hour
after the end of the fourth batch. -

2
(A) 58000 m
(C) 10750sq.m (D) 37500sq.m |
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Wmmmﬁ 42,

TR A 10.00 a.m. WIS B 2 3 &1 A9
U2 F1 QAT R | 91 A9 F 7 ¥ WIE Uh 0P W
fasm g ? |
39.  What will be the pass code for the batch
at 3.00 p.m., if input is ‘four of the
following five form a group’ ?
3.00 p.m. W &9 & fow g+ w1 8w
R ﬁ%ﬂ ‘four of the following five
form a group’ & 7
(A) a five following form four of the
group :
(B) None of these / 370 & =18 g
(C) afive following form four group the of
(D) afive following form group the of four

40. If the pass code for the batch at 1.00 p.m.
on a day was ‘back go here people who
settle want to’, what was the pass code
for the batch at 3.00 p.m. on that day ?
afe v fe7 1.00 pm. W 39 & e um |
WIS UT ‘back go here people who settle ng/
want to’, @1 35! &7 3.00 p.m. W &= = l
UTH 1S HT T ?

(A) Cannot be determined / FTd &I
femar < weha |

|
l
|
(B) None of these / 570 © I3 T& I
|
!

(C) back go here people settle who want to
(D) back go here people settle to want
who
41. The pass code for the first batch on
day was ‘he so used to sell the surplus ]
items’. What was the input on that day ?
forefl oA Jum &= &1 9@ 1T 91 ‘he so

used to sell the surplus items’, ar st i

1 Fan = ?

(A) Cannot be determined / 3Td el
feman < @A |

(B) None of these / &8 ® 1S el |

(C) he items surplus the sell to used so
(D) so used to sell the surplus items he

104D 7

What was Kharda in Rajasthan during

British period ?

(A) The cost to be collected from the
working castes,

(B) None of these

(C) The money to be collected from the

people of the village for food for
the army of the state when a halt is
opened near a village.

(D) To be charged two rupees per house
for the construction and repair of
citadel.

ey =t < R e w1 ?

(A) sresiidt el & Seeh s e wly |

(B) 9 I3 e

(C) Tr=a =t B w4 forefl it o ura vz
grerd], dl 38 M9 % forg e &
SKECSRERIEICEICIBEl

(D) e < fwir @ HowTa 8g & WO, fd
T TR W Y |

‘Ghagghar Ka Maidan’ is situated at —
(A) In the district of Ganganagar &
Hanumangarh

. (B) In the districts of Jalsalmer &

Barmer
(C) In the districts of Jhunjhunu & Sikar
(D) In the districts of Jalor & Sirohi
TR 1 HgH T 2 .
(A) T A ggATe Rl |
(B) SIerR 9 wreiy foei A
(C) T3 wfe Forcll
(D) aﬁﬁtaﬁﬁﬁfﬁﬁﬁﬁ

114./ In Bheel tribes .of Rajasthan, village

head is called

(A) Phala (B) Gameti

(C) Palvi (D) Pa]

oA ) e sanfa | Wi @ gﬁgm
HEerdl 2

(A) e (B) el

(C) Trer=t (D) TTet
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18.

Match the following :

TR AR

Granth (Books) / Writer / SH@®

Y

a. Prithvi Raj - 1. Vijaydan Detha
Raso / AEEEHEE)
PRSI R

b. Vir Vinod / — 2.Chandbardai /
it foarg T - pct

¢. Batan-Ri- r — 3.Shyamaldas /
Phulwari / FATHASTH
a1 § Serard

Codes /2 -
a b ¢

(A1 2 3

@21 3 e

€3 1 2 e

@2 3 1

When was Karauli district formed in |
Rajasthan ?

Ty | Slie foa w1 e A gan un 7

(A) 17.09.98 (B) None of these /
eI i
(C) 07.09.95 (D) 19.07.97

Who was the first ruler of Rathore dynasty ?
(A) Rao Jodha (B) Rao Chuda

(C) Rao Ranmal (D) Mokal

TSR TG & IYH IMHSG i & 7

(A) T ST (B) T g1
(C) TTa wmd (D) Hrhe

Who was the first Chief Justice of
‘Rajasthan High Court' ? :

(A) Sarju Prasad (B) None of these
(C) KK.Verma (D) D.S. Dave
TIYH I= AAEd & Jgd &

i F+A 9 7

(A) T HETE
(C) &.%. adi

(B) 1 & I3 TE

(D) ¥.um. 2 ,

49,/ The correct €

50:

st

hronological order of the

attacks of Alauddin on Rajasthan is

1. Jalor Attack
2, Chittor Attack :
5 Ranthambhaur Attac

ammm%mﬂmmuﬁqﬂw
T 8 |
|, e AT 2. ferelts s
3, Tyt AT :
Code /2 :

B) 3, 1,3
© 3 (D) 231

were the leaders of the revolt of

1857 in Kota State of Rajasthan.
(A) Lala Jaidayal and Mehrab Khan
(B) Pt. Naynuram Sharma and Vijay

Singh Pathik
(C) Lala Hardayal and Mahavat Khan

(D) Khushal Singh and Ram Singh
U F T UE 1857 & fagr ®

A H 9Tl °

(A) STl FACATd TYT Hg0E @i

(B) U. Faxm st aun fasrafag uftes
(C) TITeT §LATS 1 HgTEd @l

(D) GITEIHE qul UHRE

Which of the following is not a dance of
Kalbelia's of Rajasthan ?

Eg}) gﬁnihari (B) Indoni
hankaria (D) Chari
=1 o w1 g tmm %

FAER 7

(A) qﬁmﬁ (B) Tvgh
(C) =i (D) =t

Which of the following pairs is incorrect ?
(A) Samidheshwar Temple — Chittor

(B) Rama Vaikunthnath Temple ~ Pushkar
(C) Vashishtha ji Temple - Sirohi

(D) Laxminarayan Tgmplg — Alwar
W 3Ema g ?

(A) Wty rifey _ﬁ,ﬁ;

(B) 1 Spuaary vifiy — g

(C) STME ft & xifiy — ferd

(D) Hmﬁ_m
104D | -



/
a3 Match List-l (Wild-life Sanctuary) with | 58,

_ Match the following :
List-11 (Place) and choose the answer ﬁqﬁﬂﬁ!ﬂﬁlﬁﬁ‘ﬂﬂfi-
from the given codes ; . ch
Ist Services Startin
List -1 List - 11 id 4
qdz wand) Y
8. Desert National Park 1. Udaipur ( ( “;i}
b. Talchhapar 2. Bharatpur a. Heritage On Wheels/ — 1. 2004
¢. Phulwari Ki Nal 3. Jaisalmer )
thew 3t =
d. Bandh Baretha 4. Churu b B .
. ajast - 2
gl (F=-sha snamma) w1 get w?:c]sl;"”“s - —
(') | gifea HHfe 7o /R A m ok veeicis W3
T F YT YT I\ HT 997 HIA0 - -
= -1 Th -1 c. Royal Orient Express - 3. 1994-95
2 WU IR 1. SR /Fas Fifrdz v
b. mm'_____h\\;/ 3 ‘T{HE{ d. Vlilagc On Wheels / - 4. 2006
c w@aﬁr@\é ELSE ' e
- - Codes / :
d. T Wita 4, 9% "'f; N
a
Codes /2 : Ayd 2 3 1
a b o d B)2 1 4 3
A 4 1 2 1.4 2 3
(B) 4 3 2 1 {D) 3 3 ] 4
icr 3 3 1 4 o)
(D) 3 2 4 I % 56./%0 was the first Chairperson of
| Rajasthan Public Service Commission ?
~54./ The Prime Minister of Matsya Union was (A) D.S. Tiwari
"~ (A) Tikaram Paliwal : (B) MM. \fcrma
(B) Shobharam Kumawat (C) S.C. Tripathi
(C) Sawai Mansingh ] (D) Sir S.f(. Ghosh
(D) Bhupal Singh | ToRYM @l #a1 AT % TYW Ny
T w3 A & | amar
(A) FeTm T (A) ﬁm-f:ﬂ
(B). I FHEA (B) TH.TH.
() waré arfi j (C) wa.H. P
' D), §U A%, Uiy
(D) T e | (D)

104D 9
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Pecpal Panna is

(A) Women's neck omament
(B) Women's waist omament
(C) Women's ear omament
(D) Women’s head omament

RISSACE.

(A) Rl & ot =51 ampmo
(B) T3t % st w1 ampmw
(C) i & == w1 ampw
(D) Tt & g =1 ampgm

The saint 'who was invited to Fatehpur
Sikri by Mughal Emperor Akbar was

(A) Rajjbaji (B) Dadu Dayal
(C) Lal Das (D) Jasnath

T /HTE SThel g1 1978 §=1 &l Gagq
Hn{l ImfHa fran o, sg

(A) ==l (B) <G AT
(C) s qH (D) <E4g

In 1932 Mev Peasant Movement of
Rajasthan started in whose leadership ?

(A) Alwar Maharaja Jaisingh

(B) None of these

(C) Pratap Singh

(D) Dr. Mohammad Hadi

1932 H ToRyH F1 99 fRER ongen

foraeh Jge 9 wrow gan ¢
(A) IeTat R gt
(B) 378 & 1§ Tl

(C) wamféE

(D) ST HEE §1dt

10

Lﬁ[i./ Consider th

e following statements abe
the State Election Commissign o

make the right selection :
|. Preparation of clectoral rolls fy

elections of State Panchayats ey ;

Municipa]ities.

2. To conduct the . f:leclinn B
panchayats and Municipalities,

3. The work of preparing and electing
electoral rolls submitted by g,
Election Commission of India,

faram i @ w1 o1 1 7 i
|, T dEEdl G AR §
T & fore fat= St dam s -

7. vEmEdl U ARSI % o gmy

gua A | s
3. W faf=a TEn R Sga fety
el 1 T IR AXFAFFA |
(A) None of these / 79 & 15 78]
(B) 1,2
) 2,3
(D) 1,2,3
Match the following from List - [
(Heritage) with List — II (Place) and
choose the correct answer from the
given codes as under :

List — I List - 11
- a. Jal Mahal 1. Jodhpur
b. Ek Thamba Mahal 2. Bikaner
c. Junagarh Fort 3. Jaipur
Tt — 1 (o) =1 &t -0
(RIT) & A iy =t oy 9 Ry m
?ﬁqﬁaﬁ{ﬂ‘}:
T-1 -1
a. el WEe

"-u..._\‘l

1.
b. W s e, e

Cndes!'ﬁia_-:
w1 3 ¢ .
(B) 1 ,
¥(C) 3 % .i‘:b‘»‘if % _

2
o5

.
¢ ““‘"""‘“F::-q‘,h i T
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Consider the following statements about

Governor of any State

. He is appointed by Chief Justice of
India.

[ 39

They remain in office as per wishes
of President,

3. Executive powers of State are

embedded within him.

4. Generally, they remain in office for
five years.

et v % v=wE (ER) % gey i
= et = e it
AL 7 wra F wer ammi s w0
gl _
V2. 3 Ugef i 30T FTUR W ED B |
3. I T < e vt R E |

»A4. FEG: S T H R W RAE |

Choose the correct statements.

TE AT =g i |
Codes /%< :
(A) 2,3,4% (B) 1,2
<€) 1,2,3 (D) 1,2,4%
3 Which of the - following  musical

instrument is played by people of Kamad
caste in Rajasthan ?

(A) Gujari (B) None of these
(C) Tandura (D) Surinda
e[ 1 HHE 1fe & wmi gru = 93 8

14 |1 E@ftd S I A ?
(A) T (B) ¥ @ T A&l
©w@ O3

04D

11

4 , ,
©4.  What is pachevada with reference 1o
Rajasthan ?

(A) Thick cotton shawl
(B) Hand made paper
(C) Jut patti

(D) Mud toys

T o "W § weaer (pachevada) #41
27
(A) 1yt vl
(B) Eﬁﬁfﬁam
E5E
(C) Seugt a.%«a

(D) &= ) & faeiy

65./ The term of Lokayukta in Rajasthan is :

(A) 5 years or age of 62 vyears,
whichever is earlier.

(B) 5 years or age of 65 years,
whichever is earlier.

(C) 5 years or age of 66 years,
whichever is earlier,

(D) 5 years or age of 60 vyears,
whichever is earlier.

T 1§ ST R SR
(A) 5adar 62 at it g, S i e &
(B) 591 65 7 o 3y, S oft wg B |
(C) 5 adam 66 ad = 3y, = i TEe B 1X
(D) 594 A1 60 9 1 37, I Mt v & 1

ﬁ/Lalya-Kalya Fair is organized in
(A) Bhilwara (B) Ajmer
(C) Bharatpur (D) Jaipur
AT~ HTeT et e g @
(A) ieerg1§ (B) 3WORH

(C) Mg | (D) TR H



Which of the following pair has taken

oath maximum times as a Chief Minister

of Rajathan ?

(A) Shiv Charan Mathur and Haridev
Joshi

(B) None of these

(C) Haridev Joshi and Bhairon Singh
Shekhavat

(D) Bhairon Singh Shekhavat
Hiralal Devpura

TR % gEEEl & w9 = 9 9 e
TR Faius an A ot ? 7

(A) Fra=er s wa gfea

(B) ¥ & 1§ e

(C) &fea vt wd Wifkig Swr=d

(D) Wiftr Yr@T=a G Eene eaqd

and

Which of the following pairs is correct ?
s a g Ed ?

Institution / §&H Establish-

ment/TY-T

(A) Rajasthan Lalit Kala -
Academy / T<I=IH
ST Hel JehIeH]

(B) Rajasthan Sanskrit -
Academy / TS&H
HeFd ITRTCH

(C) Jaipur Katthak -
Kendra / S Shedh
A

(D) Rajasthan Hindi -
Granth Academy /
EISICRECAR D)
FRTEH!

1957

1969

1982

1980

12

e

the following was not g

Who among
ajasthan State Human

Chairman of R
Rights Commission ?

{A-} Justice Kanta Hhatnagar
(B) Justice premchand Jain

(C) Justice N.K. Jain

(D) Justice S. Sageer Ahmed

P & @ @R TOEE TS AR

S 3 U e T 9 7
(A) =l 1l HeTT
(B) =maHfd =

(C) = ..

(D) =i TE. W TG

In Rajasthan, ‘Satudi Teej’ festival is
celebrated on

(A) Bhadrapad Shukla Panchmi

(B) Bhadrapad Krishna Tritiya

(C) Kartik Krishna Tritiya

(D) Kartik Shukla Panchami

T # Wl i TS =ER
T R

(A) WTEIR Y& gt &1

(B) WTEWE Fo1 it =i
(C) i Foor et 1 Y
(D) =i Yt vt a9y < ‘

Who appoints the Chief Information
Commissioner of the State ?

(A) President (B) Governor
(C) Chief Secretary (D) Chief Minister

T % 4 g o 4 Prafs
FWR ? .
(A) Tgufa (B) T=aTE
© g@sfm () gerd

104D



Who won the Best Actor in a Supporting
Role (Female) Award in the Filmfare
Awards 2021 ?

(A)  Tillotama Shome

(B)  Aalia Fumiturewalla

(C) Farrokh Jaffer

(D) Taapsee Pannu

fFen - qun 2021 # feeR T
e § 841 srfiast &1 qEER S 7

A) oo om

(B) i wii=ramen
(C) HRIE TH |

(D) wEE! b § 3
Which scheme has been launched by the
Reserve Bank of India for retail investors,
through which they can directly buy and
sell government securities (G-Secs), both
primary and secondary ?

(A) RBIInvest

(B) None of these

(C) RBI Retail Direct Scheme
(D) G-Secs on sale scheme

g fied 9 g0 @ vt % fou
Fr @ e ge @ s g 3
rorfes wE Rl 1 SR A BT
wfrgfidt (G- Secs) 1 il &g 3R &9
THEAE 7

(A) FELIE TR

(B) T AFE T .

(©) e . a7, e s =hi

(D) -8 AAgA =T

India’s first Geothermal Power Project
will be established in

(A) Jammu & Kashmir

(B) None of these
(C) Himachal Pradesh

(D) Ladakh

yra @l THH
3i carifom <1 Sl |

(A) g vd I (B) =9 ° 1S T8

(c) ferEa¥en (D) T
104D

'?5./ India’s first Air Taxi Services were
launched from

(A) Kolkata (B) None of these

(C) Hyderabad (D) Chandigarh
VT &) W gars ewt dand El | 9w
ot 7
(A) ®EHE (B) T E Hr T
(C) Feuam (D) "€

|Q§/ In Modi Government which of the
following is at present Union

Information and Broadcast Minister ?
(A) Nirmala Sitharaman

(B) None of these

(C) Anurag Singh Thakur

(D) Narendra Singh Tomar

| oA e B @ R o i
e U gERe W R 7

| (A) Trder diarem

® v

| © SEmREEw

| (D) i fag A
l

g%’ Who became the first IAS officer to win

Paralympic medal ?

(A) Devendra Jhajharia

(B) Krishna Nagar
| (C) Sumit Antil

(D) Suhas Yathiraj

S% wETUY STMELUE. Jfuwr P 2
e iy g St ?
(A) @ (B) FEMAR
) ghawfe (D) FEW BIEnE]

” Which city of India is renamed as
“Narmadapuram” ?
(A) Jabalpur

(B) Narsinghpur

(C) Bharuch (D) Hoshangabad
o & Foow W 1 “HegE” g
fepam T 7

(A) TR (B) THEH

(C) w&d (D) EEIET]

l
|
|
|
|
I
l
!
I
|
I
13
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840,

 HHA AT TR AR 7

Bauxite is the ore of

(A)  Silver (B)  Mercury
(C) Ilron (D) Aluminium
SIS ITEF B

(A) =@+ (B) W&l (M) w1
(C) “R* (D) i &

Which 1s known as laughing gas ?

fa wrfén Aw (e M) & w9 F 9
ST R ?
(A) CO
(€) 80,

(B) CH,
(D) N,0

India’s first indigenously developed
DNA plasmid vaccine is

(A) Covishield (B) None ofthese
(C) ZyCov-D (D) Covaxin
WA &1 wum ol fasfde S

(B) ¥ A

e dt 8
(A) wiEtEfes
(C) TghIa-2t

Who among the following has been I
written a new book titled, “Bullets Over
Bombay : Satya and the Hindi Film
Gangster” ? :

(A) Anurag Kashyap

(B) Uday Bhatia &

(C) Vishal Bhardwaj Eﬁq

(D) Gopal Verma l
“Tered AR G we we R R |
feH fmeed” sfide areft 78 g P &

§ fom forat 8 7 |

(A) JFIMIHEY (B) Igg wWifedn

(C) fowma wrg (D) wivarer ami |
Which is first state to set up India’s First
Dugong Conservation Reserve ?

(A) TamilNadu (B) None ofthese
(C) Kerala (D) Odisha .
WA 1 941 T3 M gegror ford vy
(B) 38 @ I3 &l
(D) anfem

(A) dlErerTg

(C)

&

134_/ The bread, cereals and pasta group is a

good source of

(A) Carbohydrate (B) Fats

(C) VitaminC (D) Calcium
3, arTer ST TR HE U 3T<0 Hia

(A) ®EEEsZ  (B) F&@
(C) faafimcC (D) feyram

*85./Where are lungs situated in human

body ?

(A) Pericardial Cavity
(B) Thoracic Cavity
(C) Abdominal Cavity
(D) Buccal Cavity

T TR F S HEl WA e # 7
(A) TEIEONTTRr (B) =&y a
(C) Sefmer = (D) q@ &

(D) Frdah | hﬁﬁ/ Which of the following is a perfect match ?

(A) Hypertension — Low blood pressure
(B) Hypotension — Heart attack

(C) Coronary attack — Vascular dilation
(D) Atherosclerosis — Blockage of arteries

Faidsno e gkme ?

(A) TURRE - P w ey
(B) TERNN - geAHT

(C) ®RAG as  — Hag fesno
(D) TRARTFURE — vmfE # sty

The part of yam that can be eaten, grows :
(A) On the surface of water

(B) None of these

(C)  On the surface of ground

(D) Underground

et (3W) 1 fee B W w2,
ELGIES
(A) G!Fﬂﬂnﬁ'g‘;‘ﬁm
(B) T8 ¥ %1 7
(C) = &t gag w
(D) S % 3=y
' 104D
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Consider the following statements and

pick out the correct option from the

given codes

*Rajtarangini’ is a book written by Kalhan.

1 " An anthology of lyrics.

2 A History of Kashmir.

3 Its about Chandragupta reign.

4. Its about Loyalty of King towards
State.

Codes :

(A) Only 1,2, 3 are correct.
(B) Only 4 is correct.

(C) Only 1 and 2 are correct,
(D) Only 2 is correct.

g geaet W e ot @ ey o el |
A 78 e 4
TN Feg gRI Ted Th T & |
1. MASCHEIE)

2. HyHR w 3faEmE v

3. VEW HE & AR

4, THHIHTE S A Fa A

E4E
E.’-J

$l:
(A) Faa1,2,3T8% 1

(B) SadA4WER |
(C) $aa 1@ 2Fd ¢ |
(D) Faa2T82 1

By drawing inspiration from Brahmo
Samaj, the Veda Samaj was established
at in .

(A) Kochi, 1974

(B) Vishakhapatnam, 1874

(C) Bangalore, 1964

(D) Madras, 1864

7@ WA A YON W, de gue @)

(A) @I, 1974
(B) fawmamazm, 1874
(C) 9Ten, 1964

(D) ¥EH, 1864

16

\_g;r/ Select the incorrect  pair from the

following :

Py 3 2 mrera gm 1 94 A :
Committee of Chairman /
Constituent Hogy
Assembly / wfeam=
w1 & afirfa
(A) Union — Jawaharlal
Constitution Nehru /

Committee/aH K C IR ﬁgg
gfaum giafa

(B) Provincial — Vallabhbhai
Constitution Patel /
Committee / aﬁp.m-rgq-za
w=itg gfaum
giufq

(C) Drafting - Dr‘R;;jendm
Committee / Prasad /
wreq "t AR LA 31 o

(D) Fundamental - J.B.

Rights Sub- Kripalani /
Committee / 3.4, Frer
Hifers arfvsn

3I9-ufufa

Qﬁ/ INA prisoners of war were trialed at

(A) Parliament, Delhi
(B) Govemor General House, Delhi
(C) Tis Hazari Court, Delhi

- (D) Red Fort, Delhi

AU, F Fgafedl o e Te
(A) wwe, foreht '
(B) Wmm,ﬁ;ﬁﬂﬁ
(C) o &l averera, feeeht A
(D) e fopen, feeeht &
104D
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President’s Electoral College consists of
(A} Members of Loksabha only

(B)  Members of '
only

Elected members of both the houses
of Parliament and Elected members

of the Legislative Assemblies of the
States

Members of Parliament and Vice
President

Tyea & frata-woee 3 e §

(A) =59 Smaw ¥ 96

(B) F=a U7 faum wvzt & wem
(C) &% FH 5 T U FeE ™
o= oS S S e |
m%msﬁ?:ﬂ-m{qﬁ

State  Legislatures

()

(D)

(D)

In Indian Constitution, Fundamental !
Duties are inserted by I

(A) 77" Amendment l
(B) 40® Amendment
(C) 42™ Amendment
(D) 44® Amendment
g |fau™ 1 e s A -
(A) 774 gMYA g
(B) 403 | g
(C) 42 HYGH gH

Who among the following was the first
Speaker of Lok Sabha ?

(A) G.V. Mavalankar

(B) Baliram Bhagat _

(C) Sardar Hukum Singh

(D) Neelam Sanjiva Reddy

fry § & WY A a9 FAFRAY 7
(A) AL Hraeat

(B) wieRE W

(C) H@REPH faz

(D) e A

—— T —— —— —— —

17

104D

100. Which of the following Anticle of Indan

Constitution  deals with Public Service
Commission ?

(A) Arucle - 105 (B) Article - 315
(C) Aricle—325 (D) Article - 22
Wi "@faum & P 8 ® R oW
N0 di B WA | gt R 7
(A) ¥F=2 - 105 (B) =2 - 315
(C) ¥q=a-325 (D) q=Ha-226
. Given below are two staternents labelled as
Assertion (A) and Reason (R). In the
context of the two statements, which of the
following 1s correct ?
Assertion (A) : The Indian Constitution
closely follows the British Parliamentary
model.
Reason (R) : In India, the Upper House
of the Parliament has judicial powers.
(A) (A)is true, but (R) is false.
(B) (A) is false, but (R) is true.
(C) - Both (A) and (R) are true and (R) is
the correct explanation of (A).
(D) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).
g feu 21 Tewel @1 FfiEE (A) 3
o (R) ¥ w9 i fufea femrman €1 S
Trai S, P d s mEae ?
SR (A) : W wfgum Pree s
fafen wadra wisel 1 FTWIT F@T R |
7% (R) : Y@ o T9e & F9ll 96 5 T
(A) (A)TE &, T (R) FEAR |
(B) (A) ¥ ®, T (R)FAR |
(©) (A) T (R) 3 7 & 3 (R), (A)
f AR TE R |

(A) T (R) 2HT v &, 94 (R),
(A]aﬁ’mﬁlmﬂﬁ% |

(D)



\90./ Which of the following is the correct

4 ‘s\h'ic‘h discase is caused by protein
deficiency ?

(A) Rickets (B)  Haemorrhage

(C) Kwashiorkor (D) Anemia

BRI R S E e S B b I

A T&m . B) W

(C) v (D) wiftmn

9:/ Match the following :

frer ) AR =
List—-/g=t -1  List - I/gs - 11 92,

a. Iltutmish / 1. Daulatabad /
TeqatHy I GIE

b. Alauddin Khilji/ 2. Purana Qila/
IE3EA ettt T feme
¢. Mohammad-bin- 3. Qutub Minar /
Tughlaq/WEaG-  HIEHAR
fm go= '
d. Sher Shah Suri/ 4, Siri/&t{l
s {1
Select the correct answer using the
codes given below : .

) fom U 2 3 TR THE FEA ||

Codes/®< : i l
a b c d

A) 4 2 1 3

® 1 2 3 4

(€ 3 4 1 2

2 3 1 4

chronological order of the visit of
travellers to India 7

yr@ & A wH T it
meﬁﬁﬁﬁaﬂﬂm%?
a.  Thomas Roe/ LRy

b.  Fa-hein /e

c HiuenTsangf%ﬁH‘iﬂ

(:ﬁ) b,a,c (B) b,c,a
(€) abc (D) c,ab l
15
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‘9( The Muslim League was initially floated

in in 1906.
(A) Colombo (B) Kathmandu
(C)y Burma (D) Dhaka

yftem ofin &t yEama A 19067 W
e o e e |
(A) i
(C) =i

(B) FIBATZ
(D) @I

Consider the following statements :

The immediate cause of the Sepoy Mutiny

of 1857 was :

.  Transferring control of East India
Company.

2. Britishers’ exploitation of Indians.

3. Inequality between Indian and -
British soldiers. ,

4. The greased cartridges supplied to
the soldiers for the New Enfield

" Rifles
(A) Only 4 is correct.
(B) None of these

(C) 1 and 2 are correct. oh)

(D) 2,3 and 4 are correct. Olga

ey Tameri o fEmr

1857 % Tkt % fagie &1 awwierh
I YT —

|t i wwh % Peem &

7. 3P T W e e
il o AR & T
s .

4. 7 wrhies TEHE & fore AR
g svrcgg 1 AR

(A) Feer4adR)

(B) T @HETE

©) 13288%)

(D), 2,33aw@



(102,

43,

Match the tollowing :

i & ittt
Mining Area/
A}
b lineral /@fw
a. Khetn f@?l@ 1. Iron Ore / TR 3T9%H
b. Bailadila/ 2, Bauxite / af#H12
CRIEAGR 4
c. Balaghat/ 3. Copper/ala
CIGIeI
d. Kalahandi/ 4. Manganese / A1
a b ¢ d
A) 3 1 4 2
W) 4 1 2 3
) 1 % X 3
{ny 3. 2 1 4

Which of the following replaced the
Planning Commission ?

(A) Swachch Bharat Abhiyan

(B) None of these

(C) NITI Aayog

(D) National Health Authority .
= 4 | fraa diemn s Elﬁ wfoenfia
fom ¢

(A) =5 IRd AfEH

(B) ¥H A ®IE AE

(C) - Hife 3mEm

(D) ¥t T Wit

The total length of India’s coastline is
(A) 5100.5kms. (B) None ofthese
(C) 65003 kms. (D) 7516.6 kms.

TR TET a2~ 1T i et TS B -
(A) 51005 fw.aft. (B) 3 & v Tl
(C) 6500.3 w51, (D) 7516.6 .
Which Indian State is known as ‘Land
of Five Rivers’ ?

(A) Punjab

(B) Jammu & Kashmir

(C) Haryana

(D) UP.

fora TGt TS W1 ute Afed i &
w9 3 AT SR 7 '
(A) 9949

(C) EEmm

(B) % TE FHIH
(D) 7.4

106

I
18

Iﬂ{.‘ Pick out the wrong pair :

e 0 A
(A) Kaziranga National - Assam /
Park /AT AP TAA  ITHY

(B) Mudumalai Santtuary/ - A.P.J/
IATT o,

(C) Kanha National Park/ — M.P./

s IEE - T,
(D) Dachigam Sanctuary/ — J& K/

e 3T ERCEE:

Which of the following rivers makes an
estuary ? _

(A) Mahanadi (B) Godavari

(C) Narmada (D) Krishna

o 1 @ w1 i 7 gEE SR 7

(A) wEFd (B) e

(C) (D) oM

The gradual and fairly - predictable
changes in the species composition of a
given area is called

(A) Ecological succession

(B) None of these

(C) Ecological biodiversity
(D) Species richness

us fau U 85 % g o § wiuE 3

Tides occur in the oceans and seas due
to which among the following ?

1. Gravitational force of the Sun

2. Gravitational force of the Moon

3. Centrifugal force of the Earth
Select the correct answer using the code
given below.

ﬁnﬂummmmtﬁm’ﬁﬁ
-T2 3| & ?
1. gd & TR T
2. A S RSN 7
3. Yl % Ul |
A2 e o i o maw wEd I
(A) 1onlydast1 (B) 1,3
< 1,23 (D) 2,3
104D



el T fawea A falmgm R 7
(A) 9T -ugHE (B) Wi -ty
©) ™ia-fufm (D) Ry - Pay

L, form T % fore wren e wnele i R
(A) <9 % wfy wits w@ @ - S
(B) amE-fame faw amwen - daum
(C)- FEa! &Td A Fiell — Tl
(D) Torell =g = =i T — =iy

. iy wah-rSewd it ¢
(A) T =g + s

(B) TWHm=T+%

(C) TUYFR = W + ITHR

(D). TG = 1G] + W

= 1 g A T A A W A IR
R 7

(A) T Fae s AEa g |

(B) &l el @ 1%

(C) ThHedidaRaEmeE 1A

(D) &R & T TE HE |

e, P Pl v et e 7 € 7
(A) FTHITEA], BT, HifheT
(B)- g, T, 7
(C) g, 34, 59
(D) T, Ta, TP

ﬁmmwﬁwwmmaﬁ%?
A) HaE T2 HEA

EB;‘ W%mﬁwgﬁ"aimh
REg——C TR
e gad (B) @ §HM
@ §aE (D) TeE

116.
(A)
(©)

104D

117, 0 Raer o sish orfonfas o
auwy fg=t wifonfas oe a2 7
(A)

Contravention

- T4
(B) Authentication - @i
(C) Custodian - Nﬁﬁﬁ‘?
(D) Promotion — geraAf

118. fva fasew § “Vocation® &2 F1 THEH

et mienfes s wdi 2 ¢
(A) WEEEER  (B) FAfmAY
(C) Tf= (D) =HaE™

1o P § @ fra freren & moft vl A s
T I (SHI) HTIEM RN R ?

(A) W, ¥
(B) 3gAl, THTAT
(C) @R, were %S
(D) gEER, SRS
s o e 3 - 1 ol
| e ?
=W -3
(A) M-I = BRI-S
(B) W~ - = ga-wad
(C) FIH-FIR = Fowa-FHHgHl
(D) -3 = -
g,z{ freyferfiga vl W femme iR :
] | afirer 20 anfdfEr X
| 3. qas™ 4, F@q’am
| mafewinmhregd 1
| (A) 1,24 (B) 1,2,3%
! ©) 2,34+ (D) 3.4
19
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Read the passage and answer the
questions (122 - 126):
Comprehension

The rivers of India play an important
role in the lives of the Indians. They provide
potable  water, cheap  lransportation,
electricity, and the livelihood for a large
number of people all over the country. This
easily explains why nearly all the major cities
of India are located by the banks of rivers.
The rivers also have an important role in
Hindu Religion and are considered holy by
all Hindus in the country. '

Seven major rivers along with their
numerous tributaries make up the river
system of India. The largest basin system of
the rivers pours their waters into the Bay of
Bengal; however, some of the rivers whose
courses take them through the western part of
the country and towards the east of the state
of Himachal Pradesh empty into the Arabian
Sea. Parts of Ladakh, northern parts of the
Aravalli range and the arid parts of the Thar
Desert have inland drainage.

All major rivers of India originate
from one of the following main watersheds :

1.  Aravalli range

2.  Himalaya and Karakoram ranges

3. Sahyadri or Western Ghats in western India
4. Vindhya and Satpura ranges

Himalayan glaciers in the Indian
subcontinent are broadly divided into the three
river basins, namely the Indus, Ganga and
Brahmaputra. The Indus basin has the largest
number of glaciers (3500), whereas the Ganga
and Brahmaputra basins contain about 1000
and 660 glaciers, respectively. Ganga is the
largest river system in India. However thesc
rivers are just three among many. Other
examples are Narmada, Tapi, and Godavari.

&

| 123. Whicho

|
|
|
l
l
|
|
|
l
2

0

‘lﬂ./ All the major I

from the following watersheds :

(A) Himalaya, Karakoram, Aravalli,
Nanga Parbat, Vindhya, Satpura,
Western Ghats
Aravalli, Himalaya, Karakoram,
Sahyadri, Vindhya, Satpura
Himalaya, Karakoram, Aravalli,
Western Ghats, Sahyadri, Vindhya
Karakoram, Aravalli, Himalaya,
Hindu Kush, Vindhya, Satpura,
Sahyadri

(B)
©

(D)
EEE
E'.»I

f the followings include all rivers
are mentioned in the entire passage ?

(A) Brahmaputra, Indus, Ganga,
Narmada, Tapi, Godavari
Narmada, Tapi, Godavari

Ganga, Bay of Bengal, Indus,
Narmada, Tapi, Godavari

Tapi, Ganga, Bay of Bengal,
Indus, Arabian Sea, Godavari

(B)
(€)

(D)

\u{ A;::cording to the passage, the major
rivers in India

(A) Pour either into Bay of Bengal or
Arabian Sea or have inland drainage
Pour either into Bay of Bengal or
Arabian Sea

Pour only into Bay of Bengal *
Pour only into Arabian Sea

(B)
(©)
(D)

TZ{How many glaciers are there in each of
the river basins in India ?

(A) Ganga, Indus, Brahmaputra -
1000, 660, 3500 respectively

(B) Ganga, Brahmaputra, Indus -
1000, 660, 3500 respectively

(C) Brahmaputra, Ganga, Indus -
1000, 660, 3500 respectively

(D) Indus, Brahmaputra, Ganga -

1000, 660, 3500 respectively
‘ 104D
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126. According to the passage the rivers in

127.

128.

129.

131.

lndia play a pivotal role because ;

() They provide potable water.

(i)  They are important only to the
Hindus.

(iii) They provide cheap transportation
& electricity.

(iv) They are located near all major
cities in India.

(v)  They are means to eam livelihood

for a large number of people.
Choose the correct options :
(A) (W), (i), (1), (1v)
(B) None of these
(©) (), (i), (i), (iv), (V)

(D) (i), (i) (v) o0
Give antonym of ;
Grumpy

(A) ill-tempered (B) amiable

(C) good natured (D) obstinate

Give meaning of idiom

At one’s wit's end

(A) Explain (B) Enlighten
(C) Perplexed (D) Clear up

Which part of the sentence has an error ?

I live on a top floor of an old house.
When the wind blows, all the windows
rattle.

(A) When the wind blows

(B) all the windows rattle -

(C) Iliveonatop floor

(D) of an old house.

Which part of the sentence has an error ?
wWith a total of 45 matches, the T20 World
Cup will composition of two rounds.

(A) will composition of two rounds.
(B) No error

(C) With a total of 45 malches:.,

(D) the T20 World Cup

Give synonym of
EMBEZZLE

(A) Balance
(B) Misappropriate
(C) Remuncrate

(D) Clear

104D

\132./ Once you load the suitable program and

provide required data, computer does
not need human intervention. This
feature is known as

(A) Versatility (B) Automalic
(C) Accuracy (D) Reliability
W@ us W I IugE s i wEd
g1 Jues FU 2 &, A FAI FH @
FEANT &) JTavaEal T8 wdl | 98 AE
HEATAI 8

133" Information stored in dynamic RAM

need to be

(A) refreshed periodically
(B) None of these

(C) checked

(D) modified

Tfie RAM i vieifa gamaii &l
HEATTENE |

(A) Trafia fosa

(B) T AFR AR

(C) =

D) e

Which of the following is not a version
of Windows Operating System ?

(A) Windows 9 ‘

(B) Windows 10

(C) Windows XP

(D) Windows Vista

£ B A HH T RS WETer @
T (E9TR) TE R 7

(A) fT=mo

@) =10



.+

36.

138.

Windows 95, Windows 98 and
Windows NT are known as what ?

(A) Processor

(B) Operating systems

(C) Domain names

(DY Modems

f=ts 05, faer o8 i fa=i NT %
Fosai TSR ?

(A) WEH (B) tfwifen fiymm
(C) =maAm (D) #ieA

Which one of the following input device
is user-programmable 7

(A) VDT

(B) Intelligent terminal

(C) Dumb terminal

(D) Smart terminal
= 8 & =8 @ F\ye feam gm-

TOHEAE 7
(B) 3eferie et

(A) <334
(C) zEmeiFa (D) ww e

A computer program that converts an
entire program into machine language at
one time is called a/an

(A) Compiler (B) Commander
(C) Interpreter (D) Simulator

& FIX TUHE I TH [ IIW H T
o & € T W # qitefaa w3 8,
FEAT & T

(A) THHETEE (B) FHHIS

(C) TR (D) fagea
Plotter accuracy is measured in terms of
repeatability and

(A) Vertical dimensions
(B) Intelligence

(C) Buffer size

(D) Resolution ‘

e @1 foffedfafadt 3N
_________é;‘q?ﬁﬁﬂmmi'l
(C) THT {13 (D)

|

l

Ug./\"-’hich one of the following would not be

considered as a form of secondary storage ?
(A) Floppy disk (B) Optical disk
(C) Hard disk (D) _RAM

fry 3 @ Fpd Qe ©RY & T @&7
¥ v qr g1 o w7

(A) i fem  (B) AFA =

©) wEf= (D) W

440, Which among the following is the

largest unit of storage ?

(A) Megabyte  (B) Terabyte
(C) Kilobyte (D) Gigabyte
e 1 & o ) R ) WS TS R 7
(A) ¥ (B) TR

() fremme (D) Tmame

’ Which of the following is not essential

component to perform a mail merge
operation ?

(A) Word fields (B) Main document
(C) DataSource (D) Merge fields
e et T Yo @ fenfia e & fo

=7 3§ Q B T 9TF ATEIEE TEI & 7

(A) EhrgE  (B) TSR
(€ Izad (D) S Flesd

| 1427 An Excel Workbook is a collection of

|
|
|
|
|
|
|
|
|
|
22

(A) Charts and Worksheets
(B) None of these

(C) Charts

(D) Worksheets

T (T g T Uher § |
(A) 9H & THIH
(B) ¥ & =g Tl
(C) =H

(D) =k %5

1\4{‘ Which of the following shortcut-key is

used to start a presentation from the
beginning in PowerPoint ?

grat-ange ¥ B § ¥ 3 | wdwe-H

TS-YA 1 TN & & HA & e Iwmm
e ?
(A) F5 (B) F3
(C) F6 (D) FI1
104D
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LA

\\.Ol’d
}».1-,.;.10_editing are examples of

(A)
(BY
(C)
(D) Application Software

< Taftm, Sefe 3 wA-ufEfn
EISURES

(A) Tres SiwRam &
(B) THARE T

(C) IR FHRIR F
D) THTH FRaat &

processing, spreadsheet  and

System Software
None of these

Platform Software

ma_m
E HH

7 :
" QWERTY isused with reference to

(A) Keyboard " (B) Printer

(C) Monitor (D) Mouse
QWERTY & &ed % 3qgm femam
e | -

(A) FErE B) B

(C) Wi (D) =r3d

ﬁ./ A collection of programs that supports a
computer’s basic functions such as

scheduling  tasks controlling

peripherals is called

(A) Operating System
_ (B) Network

(C) Compiler

(D) Interpreter :
STt &1 T = COSE 1R e (4 &

mﬁﬁmﬁ@ﬁ“mmﬁ“ﬁ“
%ﬁﬁwgﬁmm%mm%.
(A aiafen e (B) —
) s (D) o

and

— A ————

N —_—-—.-—_
[~

s

ey Click

. Which letter will be 15" to the left of 5"
letter from the right end in English
alphabetical series ?

mﬁsﬁaﬂﬁqﬁnpﬁwﬁ?ﬂﬁﬁﬂﬁm%
a3 | 5T ST A TR 7

(A) F (B) J

(C) L (D) G

48/ In the following letter series, some of
the letters are missing which are given
in that order as one of the alternatives
below it. Choose the correct alternative.
frrffiaa ot Soft # FO INER 9
=% 3% 19 fer m faedt # & Rl O
3 eh wm i fn a2 ) W fEE L
= i |
a bca_bcab _ca_bc
(A) bacb (B) baba
(C) abca (D)~ aaba

From the pairs of words, you have to
select the pair which is related in the same
way as the words of the first pair.
Hammer : Nail : : :
(A) Pencil : Pen
(B) Saw:Wood
(C) Carpenter : Building

(D) Scooter: Bike

fol T W) % ) H A SR € JH A
= T R e W % ) 6 A
FH ST YA E

m - CAC ¢ )

(A) ufRmE ¥y (B) arlt : TS
(©) WY (D) T IE

H{Chnuse the group of letters which 1s

different from others.

M%mwmwﬁﬁmﬂ
=g ‘
(A) FGI (B) EFH
(€) NOQ @ TVW



